QID:101 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Aeafaifed oy # om o Rreul & @ wy =g
(?) & T W HA T FEA FH AT

2 8 6
51419
7 5 4
14 117 | ?

Options:

1) 20

2)19

3)16

4)18

Correct Answer: 19
Candidate Answer: 19

QiD:102-
How many triangles are there in the given figure?

& S st 3 feeet g B

A

Options:
1)8

2)12
3)10

47
Correct Answer: 12
Candidate Answer: 12




QID: 103 -

A word is represented by only one set of numbers as given in any one of
the allernatives. The sets of numbers given in the allernatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘A’ can
be represented by 24, 95, etc., and ‘M’ can be represenled by 11, 60, etc
Similarly, you have to idendify the set for the word “RAIN".

UF g dae UH SR NI e wr §, Sk f5 fasedl F @
frdt v A &) fawedt # Re oo geuiweg et & g1 gl
gRI & a0 §, S fh fGu otw &) ameyEl # ¥ Aege T HR
Ofs B FEr 0 # 4 § 3N T H 5 F 91 3T FEGE T T HaW
T Uge IEH OfF AR aig A TEEN T ERT g ST Aar &
3GIEAOT o ol <A’ pr 24, 95, 311G GRT GAAT o Wesdl & dur ‘M’ a1 11,
66, MfE gNT GURT o WhaT ¢ I/ /T & MU o5 # [T €
“RAIN” % o0 Ta[g = Gea=T

Matrix-I Matrix-ll

gl -l
01234 5|68(7(8(9
O|R[(CIW|G]| I 5|0O|K|D|F|X
1TTKIMIC|IQ| S 6|G|M| NIH|V
2|U[(W]Y|B|A TIE|O|Y|J]|T
3|F|H|J|L|N 8(C|F|IW|L|R
41A|R|T|IV|X 9|A|S|UIN|P

Options:
1) 41, 95, 69, 86

2) 00, 24,04, 98
3) 89, 40, 88, 30

4) 86,02, 32, 31
Correct Answer: 00, 24, 04, 98
Candidate Answer: 00, 24, 04, 98

QID: 104 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& TR 39T Hpiadl # § 3T AT HHA W gET
om J vy 2y BT &




Options:

1)

Correct Answer:

Candidate Answer:

QID:105-

Which answer figure will complete the pattern in the
guestion figure?

Hid W 3 APla W HHA & UlasT @& @7
T2




Options:

A A A

&

Correct Answer:

&

Candidate Answer:

A

QID: 106 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afy T 29T A AB Y@ WY T@m ST, o & o
AT HIEEAT H ° @i T MEa T ATEa 6r
T ufafess grefi?
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9
Correct Answer:
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Q
Candidate Answer:
-
-
L)
(3]
QID:107 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

#= & U anptaal # fEm 3EER wee @
ATSHT DA JAT Tl & a1 Ig ohH 3o’ MThia
e femrg gom?

B [A[A
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Candidate Answer:

QID: 108 - If 'P' means '+, 'Q' means =, 'R' means '+' and 'S' means 'x, then
11R33S11P4=?
o P o aef ¥, Qo aief !, R o e 'S o @,

11R33S11P4=7
Options:

1) 23/3

2)13/3

3) 21/3

4) 26/3

Correct Answer: 23/3
Candidate Answer: 21/3

QID:109-1f12#3@2=38and 14 @2 #3 =20, then4#3@1="?

A 12#3@2=38TM14@2#3=208,A4#3@1=2
Options:

115

2)11

3)13

4)16

Correct Answer: 13

Candidate Answer: 13




QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Brain

2. Boast

3. Brail

4. Broom
5. Boom

Frafafed el Y segeler § o are e & SigaR ford|

1. Brain
2. Boast
3. Brail
4. Broom
5. Boom

Options:
1) 25134

2) 25314
3) 25341

4) 25431

Correct Answer: 25314

Candidate Answer: 25314

QID : 111 - In the following question, select the missing number from the given series.
3,6,11,18,?

Frafafed uy # Rg 1y el d @ g sfe 7ma HifSgl

3,6,11,18,?

Options:
1) 27

2) 28

3) 26

4) 31

Correct Answer: 27

Candidate Answer: 27

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AC, FH, KM, ?

e 31geRd fan T B, S & ek Ue e 21 g g ekl & a8 wel forehed 9, STt SigehH i QR el

AC, FH, KM, ?
Options:
1) PQ

2) PR
3)PS

4) Qs
Correct Answer: PR
Candidate Answer: PR

QID : 113 - In the following question, select the odd word from the given alternatives.

Frfafed vy § Re g Reeat 7 @ fQue ereg o6t gfgl
Options:

1) Father

foar

2) Mother

HIdT

3) Brother

R

4) Sister-in-law

Correct Answer: Sister-in-law

Candidate Answer: Sister-in-law
oD




QID : 114 - In the following question, select the odd number pair from the given alternatives.

Frafafea wer 7 g q feedt & @ fquw @ g a0t gl

Options:
1)9-25

2) 49 - 81
3)121-179

4) 25 - 49
Correct Answer: 121 - 179
Candidate Answer: 121 - 179

QID : 115 - In the following question, select the odd letters from the given alternatives.

Frafafed uyr § g 1g Reneal & & fawe sieRi et gfHgl

Options:
1) AEl

2) PTX
3) CGK

4) MQT
Correct Answer: MQT
Candidate Answer: MQT

QID : 116 - Identify the diagram that best represents the relationship among the given classes.
Vegetable, Peas, Orange
g8 ARE gAY it R g g ot & e & deer a1 @t Feuor azar &1

Heoll, Hex, Tl
Options:

1)

2

oo

3)

4

QD

Correct Answer:

@




Candidate Answer:

@

QID : 117 - In the following question, select the related word from the given alternatives.

Chair: Sit::Bed:?

Frafafea e 8 Ry g feeedt | & deifda ez @ gl
el : ST : e ?

Options:

1) Wood

e

2) Iron

<iteT

3) Sleep

|

4) Mattress
T

Correct Answer: Sleep

Candidate Answer: Sleep

QID : 118 - In the following question, select the related number from the given alternatives.
12:169::14:?

Frafafea e 8 Ry ¢ Reeed! | & 9difda @ st gfg

12:169::14:?

Options:

1) 125

2) 225

3) 625

4) 425
Correct Answer: 225
Candidate Answer: 225

QID : 119 - In the following question, select the related letters from the given alternatives.
DAM:FCO::PEN:?

Frafafea e A Ry 1q Rened! # & Hefda sieri @t gfgI

DAM:FCO::PEN:?

Options:

1) RGP

2) RGQ

3) RFP

4) RFQ
Correct Answer: RGP
Candidate Answer: RGP

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
ACCOMPLISHED
Fafafed e 3 @ gg e gfag St fig 71q 2reg & s1eR &1 o ech T2 ST S SehdT|

ACCOMPLISHED




Options:
1) SHED

2) SLIM
3) READS

4) DISH
Correct Answer: READS
Candidate Answer: READS

QID : 121 - Amit and Chintu starts from same point and walks 20 km in opposite directions to each other. Amit turns left and walks 20 km. Chintu turns left and walks
20 km. How far (in km) are they from each other?

A qn iz e &) fiig @ gerr oy awa & qun gt kg Ram & 20 s, word &) s1ffa arff ik gea 20 .. actar @1 Rig ardff ok gea 20 At aoar &1 S Tr @R &
forafi & (Rt &) m &2

Options:

1) 80

2) 40v2

3)160

4) 80v2
Correct Answer: 40v2
Candidate Answer: 40v2

QID : 122 - Present ages of X and Y are in the ratio 5 : 6 respectively. After seven years this ratio becomes 6 : 7. What is the present age (in years) of X?

X AT Y & I SR ThH: 52 6 S igard & §1 A1 af UL I8 SIgUId 6 : 7 81 Sl &1 X I IoHH iy, (awif 7) rar 82
Options:

1) 35

2) 42

3)49

4) 28
Correct Answer: 35
Candidate Answer: 35

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All cups are plates.
II. All plates are blue.

Conclusions:

1. All cups are blue.
Il. Some plates are cups.

12 g TG weT 7 5 e ST S a1E S Y IR STUTRA o sy ey g &, gTiifeh S S A1 a2l | fHean g Sendt 81 et e v ofik iRk MafRa @ iR Ry mg @l
@ s, fag 71q s o SR WR giherd &1

hY:

|. gt oo wie §1
1. Foft e Hieht €1

foreepef:

. g+ft svu et €1

Il. & wie Ha &l

Options:

1) Only conclusion (1) follows.

haet fsaef (1) @l &1

2) Only conclusion (lI) follows.

et e (Il) TE 81

3) Both conclusion follow.

g &) e gt €1

4) Neither conclusion (1) nor conclusion (Il) follows.

T Freemf (1) 7 & e (11) e 21

Correct Answer: Both conclusion follow.

QT gt Foreemed @@ €1




Candidate Answer: Both conclusion follow.

2t 8t e Wt 81

QID : 124 - In a certain code language, "YOUR" is written as "ZPVS". How is "WITH" written in that code language?

T fAfRre @te T §, "YOUR" &t "ZPVS" forar SiTtdT 1 39 i 9T & "WITH" & fhg wran forar sirgem?

Options:
1) XKUJ

2) XJul
3) YJuI

4) WJUI
Correct Answer: XJUI
Candidate Answer: XJUI

QID : 125 - In a certain code language, "CAR" is written as "22" and "EAR" is written as "24". How is "SIT" written in that code language?

Ueh fAfAE @te e ), "CAR" @l "22" JuT "EAR" <Rl "24" fOrRaT STar &1 39 ehts T & "SIT" ohl fhd wenR ferar strgem?
Options:

1) 47

2) 48

3)49

4) 50
Correct Answer: 48
Candidate Answer: 48

QID : 126 - How many positive factors of 333 are there?

333 & oA eTeHes UFEiS 82
Options:

1)5

2)8

3)6

4)9
Correct Answer: 6
Candidate Answer: 6

QID : 127 - What is the value of 603 x 597?

603 x 597 o1 T T 872

Options:

1) 359991
2) 359997
3) 360003
4) 359996

Correct Answer: 359991
Candidate Answer: 359991

QID : 128 - How many multiples of 7 are there from 1 to 100 which are not multiples of 4?

19 100 deh 7 & O o uret & it 4 o oret =2 &7
Options:
1)14

2)11
3)10

4)12
Correct Answer: 11
Candidate Answer: 11




QID : 129 - Which of the following statement/statements is/are true?

I. Odd x Even = Odd
1l. 0dd x Odd = Even

Frfefea § § e 9/d S I 87

I. foww x g7 = fqun
11. foem x faoy = @9
Options:

1) Only |

SHad |

2) Only Il

e |
3)Bothland Il

| e 11 =F

4) Neither | nor Il
aaragi

Correct Answer: Neither | nor Il

EEIEK]]

Candidate Answer: Neither | nor Il

aaiagn

QID : 130 - What is the remainder when 622 is divided by 13?

ST 622 <At 13 & i fomar Siran &, at Shahet e gim?
Options:

12

2)11

3)9

417
Correct Answer: 11
Candidate Answer: 11

QID : 131 - Which of the following number is not divisible by 4?

ol § & @ o der 4 @ s g 82

Options:
1) 325752

2)111184
3) 222264

4) 444410
Correct Answer: 444410
Candidate Answer: 444410

QID : 132 - A can do a piece of work in 24 days. He worked for 6 days and B finished the remaining work in 12 days. B alone can do the whole work in how many
days?

A foreit o Rt 24 Rt 7 oY TR &1 9 6 et o o @ Qw @l B 3 12 Rt gt o) B ardhenn @R o ot Rt Rt A Rt R ke 87
Options:

1) 12

2)16

3)18

4)24

Correct Answer: 16

Candidate Answer: 16

QID : 133 - If 3/7t" of a cistern is filled in 36 minute, then what is the time (in minutes) needed to fill the remaining part?

Tfg SR a1 3/7-at 1T 36 e F oR 1 &, It 9 §Y T @t oA F T s (e /) @b
Options:

1) 48

2) 42

3)44

4) 52

Correct Answer: 48

Candidate Answer: 48




QID : 134 - If the ratio of the volume of two cubes is 125 : 27, then what is the ratio of their edges?

afg € vl & SaaHl T STgUTd 125 : 27 8, At SehT wiredl et SIuTd T 82

Options:
1)5:3

2)5:9

3)25:9

4)125:27

Correct Answer: 5: 3
Candidate Answer: 5:3

QID : 135 - The marked price of an article is Rs 720 and is sold at a discount of Rs 108. What is the discount percentage?

e a%g o Sifhd Ted 720 % & 9T I 108 T <l B R 9T ST1a & | P ufaera & g2

Options:
1)15

2)10

3)12

4)18

Correct Answer: 15
Candidate Answer: 15

QID : 136 - The marked price of an article is Rs 950. A shopkeeper gives a discount of 10% and still makes a profit of 80%. What is the cost price (in Rs) of the article?

Qe g T Sifahd e 950 T 81 T SRR 10% et BT 3aT & aT i +ft a5 80% o1 a1 ST &1 3%y &l o 5w (2 H) 1 §?

Options:
1) 425

2) 450
3) 400

4) 475
Correct Answer: 475
Candidate Answer: 475

QID : 137 - Two numbers are in ratio 2 : 7. If their difference is 80, then what is the smallest number?

3} TReTsil o STguTa 2 : 7 81 af ITenT SieR 80 2, d Te Bt wee & §?

Options:
1)18

2)24

3)16

4)32

Correct Answer: 32

Candidate Answer: 32

QID : 138 - If 2A = 5B = 10C, then whatis A: B: C?

g 2A=5B=10Cg, A A:B:CFIE?

Options:
1)2:5:10

2)5:2:1
3)2:5:3

4)1:2:3
Correct Answer: 5:2: 1
Candidate Answer: 5:2:1

QID : 139 - The average of 35 numbers is 6. The average of the first 18 numbers is 4 and the average of the last 18 numbers be 9. What is the value of middle
number?

35 TRerail T itad 6 &1 T 18 Tereii ot ofia 4 Td Sifaw 18 Sxeaneit ot ofiad 9 &1 Hex e ot | T 82




Options:
1) 21

2)24
3)27
4)18

Correct Answer: 24
Candidate Answer: 24

QID : 140 - If the ratio of the cost price and selling price of an article is 5 : 4, then what will be the loss percentage?

Tf& Gk a¥q o o Yoo a1 ek Jew ol SiguTa 5 : 4 §, o g1 ufdera @ar ghm?

Options:
1) 20

2) 25
3)30
4) 50

Correct Answer: 20
Candidate Answer: 20

QID : 141 - If the profit is 25%, then what will be the ratio of cost price to selling price respectively?

T AT 25% 8, ot SHAR: T e AT fIeha T T SIUTE oI RIT?
Options:

1)3:4

2)4:5

3)2:3

4)5:6
Correct Answer: 4:5
Candidate Answer: 4:5

QID : 142 - When 120 is subtracted from 70% of a number, the result is 90. What is the value of the number?

forddt T 3 70% A @ 120 ger wR uRRumH 90 SiIdT &1 T=edT T HIF 9T 82
Options:

1) 300

2) 280

3) 450

4) 270
Correct Answer: 300
Candidate Answer: 300

QID : 143 - If one-third of a number is 75, then what will be the 80% of that number?

i el T o gen-agTs 75 @, ot 39 T i 80% T ghT?
Options:

1) 180

2) 240

3) 270

4) 360
Correct Answer: 180
Candidate Answer: 180

QID : 144 - Keshav can cover a certain distance in 12 hours if he walks at the rate of 8 km/hr. If he covers the same distance by train at the rate of 16 km/hr, then what
is the time (in hours) taken by him?

&g I 8 foh. . /ger & i | I at 98 Uk Ffda o 12 9 § 90 o= Teha 81 A a8 9t o Il § 16 6.+t /gfer &t iy @ g o, ot 39 fova=n s (At H) @b

Options:

13

2)5

3)6

4)9

Correct Answer: 6




Candidate Answer: 6

QID : 145 - If 350 meters long train takes 14 seconds to cross a pole, then what is the speed (in km/hr) of the train?

Tfe gep 350 Hiex et IS Uk W i UR @t & fig 14 Jepvs ot 8, at Yormet iy ey (s # . /eier A) amm @2
Options:

1) 54

2)72

3)90

4) 36

Correct Answer: 90

Candidate Answer: 90

QID : 146 - A sum was invested for 7 years at a certain annual rate of simple interest. If the interest rate is increased by 8%, then the interest increases by Rs 2240.
What is the sum (in Rs) invested?
ek ARITRY =TSt <ht et anitfer e & 7 o & forg TverRor somet tR gy Y Sirdt 81 afg <t X 8% & 9T &Y Wiy, & <t 2240 3 9 g AT g1 A B 1S o= Ry (3 7) = g7

Options:
1) 3500
2) 4000
3) 5000
4) 6000

Correct Answer: 4000
Candidate Answer: 4000

QID: 147 -

The bar chart given below shows the number of four-
wheelers stolen in fwo cities A and B from the years
2008 to 2015.

Ry T o zue B F ¥ 2008 ® 2015 d g AUy
AT B A =Wf gu =i aweal & @= @ o

I E

OCityA/eeTA O City B/ B
SE0) S g 8 3 ¢
= Yo v o 1O
® 400 - 3 M8 “o,;_ 25 =T 00(
o & s Tl s
2. 2 B
s 300 15y
£
F & 200 -
3
S FE 100 -
o
gﬁfq 0 T T T T T T T 1
£ ® g © - 8 2 T ©
E% 5 & o0 © 6 o o o

(o} N N [ N N N o™
Year/ag

In which year, the total number of four-wheelers stolen was maximum?

forg of &, I g dafgar arel & gor S g aifdes &7

Options:
1) 2010

2) 2013
3) 2015
4) 2009

Correct Answer: 2013

- am (R e e Pt o i e s D o))/




QID:148 -

The bar chart given below shows the number of four-
wheelers stolen in two cities A and B from the years
2008 to 2015,

S T o aoE By # 9% 2008 @ 2015 IF &
ATuBH =Irf gu ol arear & w=m @ g

I E

OCityA/2"IA O City B/ B
EE 5007 § 8 . g 2
= — Yo & 5 O
@ % 400 - 2% 3788 [E gn o
2 45 S | sl =R @l &
2, [ —
EESOD—'&_—
L
F & 200 -
5
= E 100
-
gﬁ"’ 0 1 [ T I 1 1 1 1
[ © © O = N O % D
52 S8 8: s s :oE

(] [ [g] o N (g [ (]
Year /¥

In city A, the percentage change in the number of four-wheelers stolen in two consecutive years is maximum in which year?

R A H, SHATTE & st # 91 gQ |t argn dht e | ufierg uRad= o o 7 siftyenaw 82

Options:
1) 2009

2) 2011
3) 2012

4) 2013
Correct Answer: 2009
Candidate Answer: 2009




QID:149-
The bar chart given below shows the number of four-
wheelers stolen in two cities A and B from the years
2008 to 2015.

& o T gus B # o 2008 |/ 2015 & ar el
Adu B # =@ gu =iufear awal & wEm @ @R

T

OCityA/eEIA O City B/ B
§E5°° $ 8 8§ 3,8 &
S . L Ye o 3zl S
® 400 - %‘%g 25 & o COF
© g5 s E1N Al e S| 2
2, 2 M
3E300-N_
=
F & 200 4
o
= E 100 -
°
gﬁq 0 T T T T T T T
= ® @ © - o o F »
g‘% S & o S o © o

(o] o (o} &N (] (o] o (o]
Year /a9

The number of four-wheelers stolen in city B is what percent of that of city A in 2014 ?

af 2014 # g B # 91Kt gg Jufgan arg-l i T 2R A o1 fohdar nfasa 82

Options:
1) 83.33

2)120
3)77.77

4) 128.57
Correct Answer: 120
Candidate Answer: 83.33

I SR e L P T e e, e i e I



QID:150-
The bar chart given below shows the number of four-
wheelers stolen in two cities A and B from the years
2008 to 2015.

& o T gus B # o 2008 |/ 2015 & ar el
Adu B # =@ gu =iufear awal & wEm @ @R

I Tl

OCityA/eEXA O CityB /eI B
: [an]
%E 500 - g § g §8 S 0
7 12 18 57 28 [F o o
2, o B
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F & 200 4
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< E 100
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g ﬁq 0 T T T T T T T
g‘g 2 3 2 ¢ ¢ 2@ ¥
= (e} o (e} = o [en] (an] o

N o (o] N N N o (o]
Year / a§

What is the average number of four-wheelers stolen in city A in the given period?

& é arafdy , 2rgr A F 91 gy diufgan argst i siwra e @ g?

Options:
1) 358

2) 364
3)376

4) 396
Correct Answer: 376
Candidate Answer: 376

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

It was also claim that the players (1)/ were confused with drastic changes (2)/ in the strategy of every match (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 1

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Tension prevail late on Friday after (1)/ angry protesters pelted stones at the police, (2)/ torched vehicles and vandalized public property (3)/ No Error (4)
Options:

Correct Answer: 1
Candidate Answer: 1

—
[RGB o)



QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Sunita was musing
Options:

1)on

2) off

3) for

4) to

Correct Answer: on
Candidate Answer: on

memories of the past.

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Karishma has not been able to recall where

Options:
1) did she lived

2) does she lived
3) lived her

4) she lived
Correct Answer: she lived
Candidate Answer: she lived

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Bewitched
Options:
1) Disgusting

2) Captivated
3) Turn of

4) Prevent
Correct Answer: Captivated
Candidate Answer: Disgusting

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Commotion

Options:

1) Fuss

2) Calm

3) Silence

4) Quiet
Correct Answer: Fuss
Candidate Answer: Fuss

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Chagrin
Options:
1) Embarrassment

2) Delight
3) Pleasure

4) Happiness
Correct Answer: Embarrassment
Candidate Answer: Embarrassment

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Arid




Options:
1) Fertile

2) Desert
3) Thirsty

4) Dusty
Correct Answer: Fertile
Candidate Answer: Fertile

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Circuitous

Options:
1) Circular

2) Direct
3) Long way

4) Roundabout
Correct Answer: Direct
Candidate Answer: Direct

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Apposite
Options:
1) Suitable

2) Inappropriate
3) Timely

4) Relevant
Correct Answer: Inappropriate
Candidate Answer: Inappropriate

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

On the wrong side of sixty
Options:

1) To be inexperienced

2) To be older than sixty
3) To be able to convince
4) To be unsuitable

Correct Answer: To be older than sixty
Candidate Answer: To be older than sixty

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A cakewalk

Options:

1) Leisurely walk

2) Romantic walk

3) Long drive

4) Something very easy

Correct Answer: Something very easy

Candidate Answer: Something very easy

QID : 163 - Improve the bracketed part of the sentence.

The Finance Minister has acknowledged that the challenge before the government now (are to work out) both policy and investment measures to boost momentum.

Options:
1) were to work out

2) will to work out
3) is to work out

4) No improvement
Correct Answer: is to work out
Candidate Answer: is to work out




QID : 164 - Improve the bracketed part of the sentence.

For a change, performance, and not political expedience, (seem to have) dictated the nature and extent of theshuffle in the Council of Ministers.

Options:
1) seemingly has

2) seems to have
3) seemed to

4) No improvement
Correct Answer: seems to have
Candidate Answer: seems to have

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Words which are opposite in meaning
Options:
1) Synonym

2) Antonym
3) Homonym

4) Pseudonym
Correct Answer: Antonym
Candidate Answer: Antonym

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Happening every second year
Options:

1) Bilingual

2) Aerial

3) Binomial

4) Biennial
Correct Answer: Biennial
Candidate Answer: Biennial

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Accedent

2) Akcident

3) Accident

4) Acciant
Correct Answer: Accident
Candidate Answer: Accident

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Acomplish

2) Accomplish
3) Akcomplish

4) Accomplesh
Correct Answer: Accomplish
Candidate Answer: Accomplish

QID : 169 - Rearrange the parts of the sentence in correct order.

Small scale industry

P: and marketing of output

Q: for procuring raw material
R: needs government's support




Options:
1) PQR

2) RQP
3) QRP

4) QPR
Correct Answer: RQP
Candidate Answer: RQP

QID : 170 - Rearrange the parts of the sentence in correct order.

Sapna, a small

P: on her three

Q: acres of land

R: farmer, grows groundnuts

Options:
1) RPQ
2) RQP
3) PQR

4) PRQ
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
the of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
performed other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

"the

Options:
1) funny

side of religion.

2) active
3) observe

4) social
Correct Answer: active
Candidate Answer: social

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
the of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
performed other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

to
Options:

1) super

2) beautiful

3) related

4) indifferent

Correct Answer: super

Candidate Answer: super

empirical entities

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
the of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
performed other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

as the
Options:

1) reminding
2) weaning
3) wearing
4) gearing

of special clothing and the immersion




Correct Answer: wearing
Candidate Answer: wearing

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the
the
performed

side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

performed other people and in public.
Options:

1) with

2) from
3)at

4) of
Correct Answer: with
Candidate Answer: with

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the
the
performed

side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

these acts is considered a
Options:
1) honour

2) pride
3) fun

4) sin
Correct Answer: sin
Candidate Answer: sin

QID : 176 - Tax on import is an example of which among the following?

3T R o= FEffEa & 9 frge Saexor 82

Options:

1) Foreign trade
farsft =R

2) Trade Barrier
AR SFeRiey

3) Economic growth

4) Globalisation

Correct Answer: Trade Barrier
AMUR R

Candidate Answer: Economic growth

QID : 177 - What are the things which people seek besides income in economy?

I. equal treatment
Il. Freedom
IIl. Security

SrfeaRT & 31T & SIATAT AT GIRT dAeTIRT ehY ST arel] Tie! T 82

1. SRR STER
11, STTSTEY
111, JRemw




Options:
T)onlyl
had |

2) only Il

hae Il

3)Both Il &I

Il 11l =t

4)AllLI&IN

I, 1 N =ef

Correct Answer: All |, 11 & Il
I, 1l N =ef

Candidate Answer: All |, [l & 1l
1, 11 1 geft

QID : 178 - Fundamental Rights is enumerated in which part of Indian Constitution?

IRt G & forar T & wiferes SR aftfa 82

Options:
1) Part |
qAT |

2) Part I
ATl
3) Part Il
ar i
4) Part IV
an v

Correct Answer: Part Ill
AT I

Candidate Answer: Part Ill
qrr il

QID : 179 - Democracy is a form of government in which rulers are____ by the people.

TR MG T Yok OHT 30 &, s smaeh, A gRT____ STan gl

Options:
1) Nominated
A femam

2) Elected

3) not elected
g g

4) not selected

Correct Answer: Elected
AT
Candidate Answer: Elected

kgl

QID : 180 - When was the Permanent Settlement introduced by the East India Company?

S 33a Sl gRT Wl seted e @ [T ma ar?
Options:
1) 1793

2) 1765
3)1776

4) 1765
Correct Answer: 1793
Candidate Answer: 1765

QID : 181 - Jahangir was married to whom?

STEHTR frereh ary Ranfea 42

Options:
1) Mehrunissa

2) Hazrat Mahal
BoRd A5

3) Jodha Bai
Ster &g

4) None of these
T & i Tt

Correct Answer: Mehrunissa
il S .




Candidate Answer: Hazrat Mahal
BoRd Heel

QID : 182 - 66% degrees north latitude marks what?

66Y, ST ITRY SHeTIA T & 32

Options:
1) Tropic of Cancer
ek 3@T

2) Tropic of Capricorn
TR @1
3) Arctic Circle

IR Y4 (i) ga

4) Antarctic Circle

Zfayr ya (sferféen) ga

Correct Answer: Arctic Circle
I Y (M) ga

Candidate Answer: Tropic of Cancer
iy

QID : 183 - What is the duration of cold weather season (winter) in India?

YR & &8 & Hrae (<) & erafd Far 82

Options:
1) March to May
A Ag

2) October and November

AR § AARR

3) December to February
TREY

4) June to September
S 9 Rawr

Correct Answer: December to February
q e

Candidate Answer: December to February
BRzen

QID : 184 - Which of the following is/are Abiotic components?

I. Rocks
Il. Plants
11 Soil

F=fafea & @ wF @ g uee §?

L =g
L. otef

1. &

Options:
1) Only |
e |

2) Only Il

et |l

3) Both [ and Il

| T 111 &Y

A) Allll1and 11
gaftl, 11 F2r il

Correct Answer: Both | and Il

| o 1Nl &=t

Candidate Answer: Both | and Il
| T 111 Y

QID : 185 - The hardest part of a tooth is the .

ek &l &l hodRaH HFT gl

Options:
1) Gumline

2) Enamel

3) Pulp
Tqoell
4) Root

(S K




Correct Answer: Enamel

Candidate Answer: Enamel

QID : 186 - Lungs have a large number of alveoli for

Thehel & argeRta St geh Tt T rRft STt g1

Options:
1) having spongy texture and proper shape
Ththe T TSl SFTae SR TR TR 3 & fg
2) more surface area for diffusion of gases
2 ferRuT 2 STk T 8
3) more space for increasing volume of inspired air
Freanf¥ia arg & sed gQ smaaH & forg aifde @ 8g

4) more nerve supply

Correct Answer: more surface area for diffusion of gases

4T & fraor 8 arfdres ot 85 & fog

Candidate Answer: more surface area for diffusion of gases

A & fraor 8 ot ot &89 & g

QID : 187 - When do the magnets loose their properties?

eIk U 70T hel @i 3 &2
Options:
1) On heating
T A R
2) On hammering
s et R
3) On dropping from some height
3T 9 fIRG S w®
4) All options are correct
Foft fepen Tt €

Correct Answer: All options are correct

Candidate Answer: On hammering
et R

QID : 188 - What is the distance covered by an object in unit time called?

Tl g T Weieh o & o oY TS o8t T e 82

Options:
1) Force
El

2) Speed
EIS)

3) Motion
i

4) Acceleration
R

Correct Answer: Speed
EIG!

Candidate Answer: Speed
EIG!

QID : 189 - What does an information becomes after input into a computer?

FHR H FTYC & TG STHHRI &1 Shgellell 57
Options:

1) Program

b

2) Software

|igedaR

3) Hardware

4) Data

KiGr

Correct Answer: Data
lvl g

Candidate Answer: Data
lvl g.




QID : 190 - The process of converting gas into liquid on cooling is called

EET i IR A &t 19 & sea i ufehar st _____ gl STaT gl
Options:
1) Evaporation

2) Condensation
it

3) Diffusion

foreor

4) Sublimation
T

3

Correct Answer: Condensation
g

Candidate Answer: Condensation
o

QID : 191 - CO5 turns lime water milky, due to the formation of .

co,

Options:
1) Cag0y

% T S HROT A & U Y g 7 ST &1

2) CaCO3
3) Ca(OH),

4) Cazoz
Correct Answer: CaCO3
Candidate Answer: Cay0,

QID : 192 - Which among the following is not a natural ecosystem?

e & @ o a1 ves wigioe aRds 781 82

Options:
1) Forest
aq

2) Pond
GIGIC)

3) Lake
EIS|

4) Gardens
sftar
Correct Answer: Gardens

Candidate Answer: Gardens

QID : 193 - Which among the following are the basic services provided under Smart Cities Plan?

P § & H9 Q o¢ R i & st oer glend 82

Options:
1) Adequate water supply
STl T STyt

2) Assured electric supply
farsTett &t Smgfs

3) Sanitation, including solid waste management
Y AT HeeH |fgd Wesdr

4) All are basic services

g+t gt gReTd &

Correct Answer: All are basic services

EERILSE GRS

Candidate Answer: All are basic services

Aueft e graeng &

QID : 194 - Who invented Stethoscope?
RAERT A1 Snfashr frae fpar?




Options:

1) David Bushnell
e e

2) James Watt
S ate

3) James Harrison
v aRe

4) Rene Laennac
Corref:t Answer: Rene Laennac
Candidate Answer: [ NOT ANSWERED ]

QID : 195 - Who was the first Indian women to scale the Mount Everest?

HTSE TR IR TG dleit TUH YR Afger e of?

Options:

1) Bachhendri Pal

Sl uTet

2) Chhurim Sherpa

@l Rt

3) Anshu Jamsenpa

3] ST

4) Anita Kundu

AT g

Correct Answer: Bachhendri Pal

Sl aTet

Candidate Answer: Bachhendri Pal
&Y aTeT

QID : 196 - Shirts, trousers, skirts etc were brought to India in the eighteenth century by whom?

<TE, UaeH, The. 31 TR H roRed ared! | foherch gRT &g 7Tq 942

Options:
1) Europeans

2) Mongols
e

3) Afghans
SR
4) Turks

Correct Answer: Europeans

Candidate Answer: Europeans

QID : 197 - Who among the following is not a recipient of Dronacharya Award 2017?

Frfeaa # § 9 SIomaR] QRenR 2017 @1 ATehd! 181 87
Options:

1) Dr. R Gandhi

31, TR, ieft

2) Sardar Singh

TR Rig

3) Roshan Lal

A AT

4) G.S.S.V Prasad

SiY. T, ug. &t uarg

Correct Answer: Sardar Singh
TR g

Candidate Answer: [ NOT ANSWERED ]

QID : 198 - Who is the author of book named "Essays on Gita"?

Options:
1) Bal Gangadhar Tilak
et MR facre
2) Ayub Khan
&t
3) Indira Gandhi
ey mieft
4) Aurobindo Ghosh
SRfdc gy




Correct Answer: Aurobindo Ghosh

Candidate Answer: Ayub Khan
s @t

QID : 199 - Which among the following is an annual conference of geopolitics and geo-economics held in New Delhi?

Frafafed & @ o w1 7% Rl A smaifora of-xomifar ofR of-srefames a1 arfifes aer 2
Options:

1) Shangri-la Dialogue

STRI-aT arat

2) Hague code

RIEI

3) Raisina Dialogue

4) Petrapole dialogue

YeTaie araf

Correct Answer: Raisina Dialogue

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - Arun-lIl Hydro Electric Project is to be set up in which neighbouring country of India?

TR & foher uSteft 327 STl BTESY Sefaren URETSHT Y TaTge Y S 87

Options:

1) Myanmar
AR

2) Bangladesh

T
3) Afghanistan
SR
4) Nepal
Bt

Correct Answer: Nepal
Eic

Candidate Answer: Nepal
Bl




